

#### Pay Estimate Created Date: June 1, 2023

Progress Estimate Number 4		Contract ID Prime Contractor	221118-B02 Magruder Paving, LLC			Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,996,811.21 \$0.00 \$2,996,811.21			
Approval Date							By User			
June 3, 2023			Generated and Approve	d (and should be co	nsidered Draft)	at the Project Office Level by	foxd			
June 3, 2023		Rev	iewed and Approved (an	d should be conside	red Draft) at the	e Resident Engineer Level by	baxtem1			
June 5, 2023	3 Reviewed and Approved at the Central Office Controllers Office Level by									
Original Comp	letion Date	Current Comp	letion Date Ac	tual Completion Da	ite	% of Current Contract Amour	nt Complete			

Novemb	er 1, 2023	November 1	, 2023				43.15%	
Cor	ntract Informationa	l Dates			Mi	lestones		
Date Description	Original Completion Date	Current Completion Date	Date Description		Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Acceptance Date				Milestone - Calendar Time - JSP B - J2P3393		July 3, 2023	28	
Awarded Date	December 6, 2022	December 6, 2022	Milestone - C JSP B - J2S3	alendar Time - 375	June 8, 2023	June 8, 2023	Milestone Complete	
Letting Date	November 18, 2022	November 18, 2022						
Notice to Proceed Date	February 6, 2023	February 6, 2023						
Open to Traffic Date								
Work Began Date	May 10, 2023	May 10, 2023						

Contract Total Pay For Estimate No. 4				
	This Estimate	Previous	To Date	
221118-B02				
Total Posted Items Pay	\$1,012,045.98	\$281,184.68	\$1,293,230.66	
Gross Item Adjustments	(\$59,777.14)	\$90,147.97	\$30,370.83	
Incentive	\$16,038.00	\$0.00	\$16,038.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		<b>\$371,332.65</b>	\$1,339,639.49	
Contract Total Payable This Estimate:	\$968,306.84			

# Contract Total Payable This Estimate: Items Paid This Estimate Period

Project Number	Line Number	Item Code		Item De	escription		Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J2P3393	0040	4030003	ASPHALTIC CO	NCRETE MIXTURE PO	G 70-22 (SP095C MIX)		TONS	\$80.190	9,209.29	\$738,492.97		
	0060	4071005	TACK COAT				GAL	\$3.680	8,373	\$30,812.64		
	0080	6133020		RNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C TONS \$320.290 123.81 RTIAL DEPTH PAVEMENT REPAIR								
	0090	6133021	REMOVAL FOR	EMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR SQYD \$107.930 496.1								
	0100	6161005	CONSTRUCTIO	N SIGNS		SQFT	\$6.500	604	\$3,926.00			
	0120	6161098A		MESSAGE SIGN WITH FURNISHED, CONTRA	INTERFACE,	EA	\$1,800.000	2	\$3,600.00			
	0220	6221001	COLDMILLING E (3 IN. THICK OR	100,720	\$142,015.20							
Project J	2P3393 - 1	Fotal								\$1,012,045.98		
Overall -	Total									\$1,012,045.98		
ontract A	djustment	ts This Estin	<u>mate</u>									
Contract A	Adjustmen	t ID	Adj Type	Entered By	Comments	Time Unit	s	Rate		Amount		
	3	919	SPADIncentive	foxd	Lot 1 SP095 23-44A					\$16,038.00		



Pay Estimate Created Date: June 1, 2023

Progr	ress Es	timate Numbe 4			118-B02 jruder Paving,	Pay Period Star LLC Pay Period End		riginal Contract et Change Order urrent Contract	Amount \$	2,996,811.21 0.00 2,996,811.21
Contract	Adjusti	ment ID	Adj Type	Enter	ed By	Comments	Time Units	Rate		Amount
Overall -	Total	These a	amounts are list	ed in the Inco	entive Dising	centive, Liquidated Dan	nages or Other Co	ntract Adjustmer	its	\$16,038.00
ne Item	<u>Adjust</u>	ments This Es								
Project Number	Line No.	Item D	escription	Adjustment Type	Other Item Adjustment Type	Comr	nents	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
2P3393	0040		TIC CONCRETE 70-22 (SP095C MIX)	Price			Price Adjustment In It Type applied is Fl		(\$5.28)	(\$6,844.23
	0040		TIC CONCRETE 70-22 (SP095C MIX)	Price			Price Adjustment In It Type applied is Fl		(\$5.28)	(\$7,787.87)
	0040		TIC CONCRETE 70-22 (SP095C MIX)	Price			Price Adjustment In It Type applied is Fl		(\$5.28)	(\$10,807.97)
	0040		TIC CONCRETE 70-22 (SP095C MIX)	Price			Price Adjustment In It Type applied is Fl		(\$5.28)	(\$11,597.52)
	0040		TIC CONCRETE 70-22 (SP095C MIX)	Price			Price Adjustment In It Type applied is Fl		(\$5.28)	(\$11,576.41)
	0040		TIC CONCRETE 70-22 (SP095C MIX)	Material				-9,209.29	\$80.19	(\$738,492.97)
	0040		TIC CONCRETE 70-22 (SP095C MIX)	Material		overridding Payment E	Payment Estimate I (0006) due to user f	tem oxd I on	\$80.19	\$738,492.97
	0040		TIC CONCRETE 70-22 (SP095C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	adjustmer	adjustment for 9,187 tons to date			(\$10,461.59)
	BITUMIN FOR CI		AND PLACING OUS MATERIAL ASS C PARTIAL EMENT REPAIR	Material				-123.81	\$320.29	(\$39,655.10)
	0080	DEPTH PAVEMENT REPAIR		Material		overridding Payment E	Payment Estimate I (0007) due to user f	tem oxd 2 on	\$320.29	\$39,655.10
	0090	P	- FOR CLASS C ARTIAL DEPTH EMENT REPAIR	Overrun				-6.5	\$107.93	(\$701.55)
otal										(\$59,777.14)



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J2P3393	FAF 47-1(91)	Coldmill and resurface	47	LINCOLN	from Route 79 to 0.7 mile east of Route 61 near Troy
J2S3375	FAS- S202(090)	Coldmill and resurface	147	LINCOLN	from beginning of state maintenance to Route 47 near Troy

#### Totals by Job Numbers

3393	This Estimate	Previous	To Date
Posted Item Pay	\$1,012,045.98	\$0.00	\$1,012,045.98
Gross Item Adjustments	(\$59,777.14)	\$105,443.88	\$45,666.74
Gross Item Pay	\$952,268.84	\$105,443.88	\$1,057,712.72
Incentive	\$14.482.56	\$0.00	\$14,482.56
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
3375	This Estimate	Previous	To Date
Posted Item Pay	\$0.00	\$281,184.68	\$281,184.68
Gross Item Adjustments	\$0.00	(\$15,295.91)	(\$15,295.91)
Gross Item Pay	\$0.00	\$265,888.77	\$265,888.77
Incentive	\$1,555.44	\$0.00	\$1,555.44
Disincentive	\$0.00	\$0.00	\$0.00
h	\$0.00	\$0.00	\$0.00
Liquidated Damages	ψ0.00		



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

# Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2P3393, Item 4030003, Project Item Line Number 0040, Material Set 403000396, Material 0403SP095CLG - Superpave 9.5 mm, Des C 80 Gyros, Acceptance Action Generic AspHigh is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3393, Item 6133020, Project Item Line Number 0080, Material Set 613302096, Material 0403SP190CLG - Superpave 19.0 mm, Des C 80 Gyros, Acceptance Action Generic AspHigh is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Item Overrun: Contract 221118-B02, Contract Project J2P3393, Project Item Line Number 0090, Contract Line Item Number 0090, Item 6133021, Minor Item.	No Remark was entered by Engineer	foxd	Acknowledged

# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

# Total Paid / All Items / All Estimates (Including this Estimate)

date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Valu			eport Generated date and can differ from the posted amo	ount at the t	ime the l	Estimate wa	s Gener	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-B02	J2P3393	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$14,000.00	\$0.00
		0001	0020	2152000A	SHAPING SLOPES, CLASS II	1.00	0.00	1.00	100F	0.00	\$1,400.00	\$0.00
		0001	0030	2153000	SHAPING SLOPES, CLASS III	21.00	0.00	21.00	100F	0.00	\$1,400.00	\$0.00
		0001	0040	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	22,313.00	0.00	22,313.00	TONS	11,588.29	\$80.19	\$929,264.98
		0001	0050	4031057	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.00
		0001	0060	4071005	TACK COAT	23,994.00	0.00	23,994.00	GAL	10,115.00	\$3.68	\$37,223.20
		0001	0070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	0080	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	158.40	0.00	158.40	TONS	123.81	\$320.29	\$39,655.10
		0001	0090	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	489.60	0.00	489.60	SQYD	496.10	\$107.93	\$53,544.07
		0001	0100	6161005	CONSTRUCTION SIGNS	1,754.00	0.00	1,754.00	SQFT	604.00	\$6.50	\$3,926.00
		0001	0110	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	0.00	\$15.00	\$0.00
		0001	0120	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$1,800.00	\$3,600.00
		0001	0130	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$2,500.00	\$0.00
		0001	0140	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$71,000.00	\$0.00
		0001	0150	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	54.00	0.00	54.00	LF	0.00	\$20.00	\$0.00
		0001	0160	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	32.00	0.00	32.00	EA	0.00	\$300.00	\$0.00
		0001	0170	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	86.00	0.00	86.00	LF	0.00	\$1.00	\$0.00
		0001	0180	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	137,288.00	0.00	137,288.00	LF	0.00	\$0.10	\$0.00
		0001	0190	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	107,668.00	0.00	107,668.00	LF	0.00	\$0.10	\$0.00
		0001	0200	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	89.00	0.00	89.00	LF	0.00	\$0.30	\$0.00
		0001	0210	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	251.00	0.00	251.00	LF	0.00	\$5.00	\$0.00
		0001	0220	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	239,935.00	0.00	239,935.00	SQYD	127,120.00	\$1.41	\$179,239.20
		0001	0230	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	460.00	0.00	460.00	STA	0.00	\$14.50	\$0.00
		0010	0240	6061060	MGS GUARDRAIL	888.00	0.00	888.00	LF	0.00	\$30.00	\$0.00
		0010	0250	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	14.00	0.00	14.00	EA	0.00	\$4,000.00	\$0.00
		0010	0260	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	14.00	0.00	14.00	EA	0.00	\$3,200.00	\$0.00
		0010	0270	6063017	TYPE C CRASHWORTHY END TERMINAL	2.00	0.00	2.00	EA	0.00	\$31,000.00	\$0.00
	Project J2	2P3393 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,246,452.55
	J2S3375	0001	0280	3105002	GRAVEL (A) OR CRUSHED STONE (B)	6.00	0.00	6.00	TONS	6.00	\$470.10	\$2,820.60
		0001	0290	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	2,443.80	0.00	2,443.80	TONS	2,443.80	\$94.52	\$230,987.98
		0001	0300	4071005	TACK COAT	2,319.00	0.00	2,319.00	GAL	1,845.00	\$3.68	\$6,789.60
		0001	0310	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$100.00	\$0.00
		0001	0320	6161005	CONSTRUCTION SIGNS	681.00	0.00	681.00	SQFT	359.00	\$6.50	\$2,333.50
		0001	0330	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	0.00	\$15.00	\$0.00
		0001	0340	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$20,800.00	\$20,800.00
		0001	0350	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	23,623.00	0.00	23,623.00	LF	0.00	\$0.10	\$0.00
		0001	0360	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	23,623.00	0.00	23,623.00	LF	0.00	\$0.10	\$0.00
		0001	0370	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,077.00	0.00	1,077.00	LF	0.00	\$0.30	\$0.00
		0001	0380	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	407.00	0.00	407.00	SQYD	407.00	\$15.50	\$6,308.50
		0001	0390	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	719.00	0.00	719.00	SQYD	719.00	\$15.50	\$11,144.50
221118-B02 Ove					ate as of Report Generated Date							\$281,184.68 \$1,527,637.23
Ove	an - rotal	. and F 05		a as or ivept	at contrast puto							¢1,521,051.25



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work.

Project: J2P3393

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0040	4030003	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	5/23/23	6/1/23	1,296.55	TONS	WBL	.003		1.503		
			5/24/23	6/1/23	1,475.31	TONS	Westbound lane and all turn lanes through Winfield	0.003		1.076		
			5/25/23	6/1/23	2,047.43	TONS	Westbound lane	1.503		4.066		
			5/30/23	6/1/23	2,197.00	TONS	Eastbound lane	1.076		3.833		
			5/31/23	6/1/23	2,193.00	TONS	Westbound lane	4.066		6.837		
0060	4071005	TACK COAT	5/22/23	6/1/23	145.00	GAL	Both lanes various locations.	.740		9.371		
			5/23/23	6/1/23	1,162.00	GAL	Both lanes various locations.	.003		1.503		
			5/24/23	6/1/23	1,500.00	GAL	Westbound lane and all turn lanes through Winfield	0.919		1.011		
			5/25/23	6/1/23	1,839.00	GAL	Westbound lane	1.503		4.066		
			5/30/23	6/1/23	1,985.00	GAL	Eastbound lane	1.076		3.833		
			5/31/23	6/1/23	1,742.00	GAL	Westbound lane	4.066		6.837		
0080	6133020	FURN & PLACE BIT. MATL FOR CL C PARTIAL	5/22/23	6/1/23	123.81	TONS	Both lanes various locations.	.740		9.371		
0090	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	5/22/23	6/1/23	496.10	SQYD	Both lanes various locations.	.740		9.371		
0100	6161005	CONSTRUCTION SIGNS	5/19/23	6/1/23	8.00	SQFT	E.B. side	0.143				End Road Work
				6/1/23	8.00	SQFT	E.B. side	13.422				Rate Our Work Zone
				6/1/23	8.00	SQFT	W.B. side	0.034				Rate Our Work Zone
				6/1/23	8.00	SQFT	W.B. side	13.301				End Road Work
				6/1/23	10.00	SQFT	E.B. side	13.301				Road Work Next 13 Miles
				6/1/23	10.00	SQFT	W.B. side					Road Work Next 13 Miles
				6/1/23	12.00	SQFT	E.B. side	13.180				Work Zone No Phone Zone
				6/1/23	12.00	SQFT	W.B. side	0.295				Work Zone No Phone Zone
				6/1/23	16.00	SQFT	N.B. Rte. 79	15.257				Road Work Ahead
				6/1/23	16.00	SQFT	Rte. EE	0.179				Road Work Ahead
				6/1/23	16.00	SQFT	Rte. W	0.132				Road Work Ahead
				6/1/23	16.00	SQFT	S.B. Rte. 79	72.271				Road Work Ahead
				6/1/23	176.00	SQFT	11 total on both sides of 47	.003		12.809		No Center Line
				6/1/23	288.00	SQFT	18 total on both sides of 47	.003		12.809		Uneven Lane
0120	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	5/19/23	6/1/23	1.00	EA	E.B. side	13.364				
				6/1/23	1.00	EA	W.B. side	0.221				
0220	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	5/23/23	6/1/23	13,200.00	SQYD	WBL	.003		1.503		
			5/24/23	6/1/23	15,861.00	SQYD	Westbound lane and all turn lanes through Winfield	0.919		1.011		
			5/25/23	6/1/23	22,631.00	SQYD	Westbound lane	1.503		4.066		
			5/30/23	6/1/23	24,388.00	SQYD	Westbound lane	1.076		3.839		
			5/31/23	6/1/23	24,640.00	SQYD	Westbound lane	4.066		6.837		

oject	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Pos													
3375	0320	May 1, 2023	60	GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		0.000		1.00	10.00			10													
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		2.219		1.00	12.00			12													
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		2.319		1.00	10.00			10													
				GO20-2 48x24 8.00 END ROAD WORK		2.319		1.00	8.00			٤													
				GO20-2 48x24 8.00 END ROAD WORK		0		1.00	8.00																
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		.05		1.00	12.00			1													
		May 2, 2023	112	WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		.02		1.00	16.00			1													
					WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		.1		1.00	16.00			1												
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		.3		1.00	16.00																
				CONST-7 48x24 8.00 RATE OUR WORK ZONE		2.119		1.00	8.00																
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		2.35		1.00	16.00																
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		2.40		1.00	16.00																
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		2.450		1.00	16.00																
				CONST-7 48x24 8.00 RATE OUR WORK ZONE		.1		1.00	8.00																
		May 10, 2023	187	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		rt.47		1.00	16.00																
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		rt. 47		1.00	16.00																
																	WO8-12 48x48 16.00 NO CENTER LINE		2.1		1.00	16.00			
																							GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		2.013
									WO8-11 48x48 16.00 UNEVEN LANES		2.000		1.00	16.00											
											GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		1.76		1.00	1.50									
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		1.67		1.00	16.00																
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		1.58		1.00	16.00																
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		1.5		1.00	16.00																
				GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		1.345		1.00	1.50																
				GO20-4 36x18 4.50 PILOT CAR		0.000		1.00	4.50																



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable).

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post	
J2S3375	0320	May 10, 2023	187	FOLLOW ME									
				GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		0.000		1.00	1.50			1.50	
					WO8-12 48x48 16.00 NO CENTER LINE		.87		1.00	16.00			16.00
				WO8-11 48x48 16.00 UNEVEN LANES		.5		1.00	16.00			16.00	
					WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		rt.47		1.00	16.00			16.00
			WO8-12 48x48 16.00 NO CENTER LINE		.03		1.00	16.00			16.00		
	0320 - Total											358.5	



# Line Item Adjustments by Estimate

Jun 6, 2023

# Contract ID: 221118-B02

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J2P3393	0040	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	Material		4	Jun 1, 2023	SYSTEM	\$738,492.97	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user foxd overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jun 1, 2023	SYSTEM	(\$738,492.97)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
			Other Item Adjustment	ACAD	4	Jun 1, 2023	foxd	(\$10,461.59)	adjustment for 9,187 tons to date
				ACAD - Total				(\$10,461.59)	
			Other Item Adjustment - Total					(\$10,461.59)	
			Price FUEL		4	Jun 1, 2023	SYSTEM	(\$6,844.23)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Jun 1, 2023	SYSTEM	(\$41,769.77)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$48,614.00)	
			Price FUEL - Total					(\$48,614.00)	
	0040 -	Total						(\$59,075.59)	
	0080	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Material		4	Jun 1, 2023	SYSTEM	\$39,655.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user foxd overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Jun 1, 2023	SYSTEM	(\$39,655.10)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0080 -	Total						\$0.00	
	0090	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	Overrun	Overrun	4	Jun 1, 2023	SYSTEM	(\$701.55)	
			Overrun - Total					(\$701.55)	
			Overrun - To	tal				(\$701.55)	
	0090 -	Total							
	0240	MGS GUARDRAIL	Construction Stockpile STMI		2	Mar 20, 2023	SYSTEM	\$13,376.38	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total					\$13,376.38	
			Construction	Stockpile S	TMI - Total			\$13,376.38	
	0240 - 0250	Total MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction		2	Mar 20,	SYSTEM	\$13,376.38 \$28,630.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI	- Total		2023		\$28,630.00	
			Construction Stockpile STMI - Total					\$28,630.00	
	0250 -	Total						\$28,630.00	
	0260	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile STMI		2	Mar 20, 2023	SYSTEM	\$26,250.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$26,250.00	
			Construction Stockpile STMI - Total					\$26,250.00	
	0260 -	Total							
	0270	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile STMI	<b>T</b> . 4 . 1	1	Mar 2, 2023	SYSTEM	\$37,187.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total Construction Stockpile STMI - Total					\$37,187.50	
	0070	T-4-1	Construction	Stockpile S	rmi - Total			\$37,187.50	
1000000	0270 -	Total						\$37,187.50	
J2P3393 -			<b>0</b> .1					\$45,666.74	
J2S3375	0290	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	Other Item Adjustment	ACAD Tot		May 15, 2023	shrumt1	(\$2,395.58)	This deduction is for asphalt price index for the date of 5-10
			ACAD - Total					(\$2,395.58)	
			Other Item A	djustment - T			e) ( = =	(\$2,395.58)	
			Price FUEL		3	May 15,	SYSTEM	(\$12,900.33)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL



# Line Item Adjustments by Estimate

Jun 6, 2023

# Contract ID: 221118-B02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S3375		BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR				2023			
				- Total				(\$12,900.33)	
			Price FUEL - Total					(\$12,900.33)	
	0290 - Total								
J2S3375 -	J2S3375 - Total								
Overall - Total								\$30,370.83	



# Contract Adjustments for Contract - 221118-B02

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
4	J2P3393	Incentive	SPAD	\$14,482.56	90.30153454	Jun 1, 2023	foxd	Lot 1 SP095 23-44A
	J2S3375	Incentive	SPAD	\$1,555.44	9.69846546	Jun 1, 2023	foxd	Lot 1 SP095 23-44A
4 - Total					\$16,038.00			
Overall - Total					\$16,038.00			